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Can a Gzayroh Shohvoh - 92D VWD 9P RPDRY TR 77T KINK N
come and completely excise it from its simple meaning

Overview

¥ ruled in the Xn»72 regarding a nw AN 70IRNIW 77w that 7°aR> noip (like a
regular 70IRN1 K7W 77w1). The AwR X> WX P09 (which would indicate that if
7waann 7o7xn1 the rule should be different) is not expounded to exclude f0IRN1
wanM, since it is utilized for a Mw 77°1A. The X3 asks how is it that a w"T3 can
completely disregard the plain meaning of a ?109. Our NMBOIN reconciles our X723
with a seemingly contradictory X773.

- APY NN NONN NN P11
For the inference (of 7w X7 WX, which is) that if 797K there is no [7°ax7] 01p,
that inference is false according to ¥"1 —

nooIn asks:
= 1IN MON J9¥T 990 (N,¥ 97 7MN2%) Y9yn YAt NV

And there is a difficulty, for 71vo% ", in the beginning of 277 »95, derives that

an 9 (an uncircumcised 3772) is forbidden to eat ;%Y n
- ’noon 2o avInt MY 1PN

Through the 2''t3 of 295w 3w n which is also written by the nep 127p -
= Y N DIVN NDD 2) 13 DN XY 99 AW 29N

And (continues Mo0IN) the reason 12 928> K 295w 2wnn is written by noD is only

because of the @''ta (but not that a 2°3w1 2N cannot eat the nod); it is written -
- 4539 799 %99 YT DDA 159INBNTI NV PYIN PYI AN KNT NN IPNRY 29 ¥ N

Even though it is not true, for a 9922 220 do eat from the 1702 127p, as the X7
states there, ‘since his master does not acquire him’ -

' mpon is responding to an anticipated question; the w"i by itself of 7wIK XY is not contradicting any rules, it
merely teaches that both by o1& and 1nan the 01p is 2°2pw D°wan. What the X3 means is that since 7w R? TR is
required for the w"1, therefore we cannot infer from it that if w7 there is no [1°ax?] oip, this prevention from
making the obvious inference X7 mw7X X7, contradicts the simple meaning of the 09, which is that the father
receives the 01p, only if it is 7w X, but not if TWIKX.

? Generally a 175w refers to an 12y 72v who is sold for six years, and a 2wIn is a %13 *12v 72y who serves until 22v.

3 Regarding eating 72170 it is written (in *,25[1K] R1p") WP 798 K2 795w 175 2w, and regarding the nod 1277 it is
written (in 7n,2° [R2] NAW) 12 298> X7 79w 2@1n. Therefore just as by 709 an 77 is 70K as it states (M1 P00 aw) HN
12 998 &2 97y, the same applies to eating 712170 that an 27y is prohibited.

* The X3 there explains the reason why 75w 2wn of a 375 do not eat 77170 because the master (the j713) does not
own them (as he owns an *1v15 72v); they are not 1903 PIp, so by the same token they are complete 2°2%7%> and they
are required to eat the oD 127p, so the only reason the 770 writes 12 258* X% 1°5w1 2wN (by nod) is just for the w"!

1
TosfosInEnglish.com



» 1"7 '010 2,77 M2In> .7"'02

- 5NN Y90 MOV NP 139D
And it removes the 702 from its simple meaning much more than here!

MooIN answers:
= DONY ND 19N 05932 9999 929V AWIN XINNT DN 13929 9IIN)

And the n''s says; that 295w 2wn (who are prohibited from eating the 1o9) is in

a case of 2°»7y and therefore they cannot eat -
115309 NNIDN DIVNY T3 IXT RINR 11539 19 599 N9 AT TIND INIYS 2WInN INST *nowm

For it is evident that it is not a circumcised 9%w> 2wn,” for the master did not
acquire him, so why cannot he eat; rather it must be an %7 and the 770 wrote
33w 2wIn, in order it should be ‘vacant’® -

Summary
The 2w 2N of noo 1277 is discussing an 97, and it is written so there will be a

7197 WA

Thinking it over

How could we have even thought in the X1°"n& 717 that 722wy 2w by 109 is referring
to a regular 711 *12y 72v. How can the 770 write explicitly something which the
exact opposite is true. In our case at least when it states that a X? WX 777102 772
WA is paid a 01p, that is true, the 7710 is not writing a falsehood, but how can we
even imagine that by 75w 2vin where the rule is they are required to eat, and
nevertheless the 7710 should write they may not eat?!

3 See footnote # 1. In our X3 the @' itself is not X7 7P0VWOH P07 it is only Xpon from the inference, however
there the W' states 98> R? %51 2w1n and the rule is that he must eat. There can be no greater RIp7 LW RpPON
than this, so why is the X713 here so concerned about X7p7 iPvwd, when we see it elsewhere in an even greater form?!
See ‘Thinking it over’.

® The question is obvious if they are 0°77, why mention 72w 2vn; the 7N clearly prohibits any ¥ from eating?!
7 From mooin in X% 7"7 2,9 N2> it appears (as the words here, 9n&p 9X7w° 2win 857, imply) that 9°321 22N means
0", and he cites the Xn?°2n that 2¥N is a 2WN 73 and OV is a M.

¥ The preferred "1 is where the word(s) utilized are superfluous. In this case since we are discussing a 72w 2wIn
99y, it is superfluous since we know that an 77y cannot eat, it was repeated so we can have a 7191 "3, but in no
way is it XIp7 70won Xpon,
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